SINDHI HIGH SCHOOL, BENGALURU
ANNUAL EXAMINATION-(2023~24]
SUBJECT -ENGLISH

CLASS 8
ArEi26 Reading Time:8-8:15A.M
D DN i
/3/24 Writing Time: 8:15-11.15A.M.
Max.Marks:80 No of Printed Sides:14

GENERAL INSTRUCTIONS:

This Paper contains three sections:
Section A-Reading 20M

Section B-Writing & Grammar-20M
Section C- Literature-40M

All Sections are compulsory

Adhere to the word limit. |

SECTION A READING
)] Read the text carefully and answer the questions that follow:(20M)

1 The road to success is not straight: there is a curve called failure, a loop
called confusion. Speed bumps called friends, caution lights called family
and you will have flats called jobs. But if you have a spare called
determination, an engine called perseverance, insurance called faith and
a driver called God, you will make it to a place called success! In spite of
all our planning and preparation, unexpected challenges are certain to
arise. The bumps in the road are unavoidable, but you’'ll never get to your

destination, if you aren’t willing to drive over them. The difference

hetween a disaster and triumph lies in whether or not you’re prepared
and willing to weather the storm. If you're ready, those bumps will
become stepping-stones.

The key thing to realize that working harder is same as working smarter. How

do you work smart? You just need to have the right skills. People want improved
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i self. They want victg
circumstances and better life without an improved ry
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without paying the price or making efforts. It i
th ‘ era
other. Any improvements that have not been gen o
' sible
are super facial and short lived. A better future 18 pos

i e your way. J
Stop worrying about the various challenges that will comey

ly cannot happen without the
d by working on yourself

y changing yourself.

ust believe

in yourself and use them as your stepping stones.

“Success”, is getting whatever you want out of life without violating the r?ghts ?f
others. It is not an accident. Rather the result of our attitude and our attitude1s
a choice. Hence success is a matter of choice and not chance. Today success
fepresents a holistic and positive attitude of life. Attitude is everything. Success
is not restricted within some kind of brick-and-mortar premises. It assumes

individually the complete act executed with perfection.

Material achievements do not define life. We don’t remember sports stars for
the products they endorse but the spirit of achievement they represent. In the -
abundance of positive attitude underline the grandeur of a truly rewarding rich
life. Success can be measured from two standpoints-the external and the
internal. Externally it is the measure of a job well done and recognition. |
Internally it is the feeling of achievement and wholeness derived from the
completion of a task or fulfillment of desire.

(1x8=8M)
i) According to the text, which of the following statement is
a) working harder is same as working smarter
b) hard work is the only key to success
c) working smarter is the only way to achieve your goal.

d)hard work and luck are important to succeed in life.




ii) “If you are ready, those bumps will become stepping stones”. Through

this sentence the writer tells us to

a) ignore ups and down while working to achieve our goal.
b) work with a proper plan to achieve our goal

c) focus only on our goal and ignore all responsibilities.

d) take all challenges with strong determination.

iii) Which one of the following quotes captures the central idea of the

passage?

| i) It is better to fail in originating to | ii)Success is not final: failure is

| ; e el . .
| succeed in limitation-Herman | not total. It is the courage to

Melville continue that counts-Winston

Churchill

|
|
!
I
|
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| iii) The road to success and the road jv)Success usually comes 1o
Ito failure are almost exactly the|those who are busy to be
’ same Collin. R Davies looking for it.

a) option (i) (b) option (ii) (c) option (iii)  (d) option (iv)

iv) Select the option that makes the correct use of ‘destination’ as used in

para 1.
a) We will reach our destination by 6 O’clock.

b) She is working hard to reach her destination.

c) Shimla is her favourite destination.
d) The cinema hall is the largest entertainment destination in the city.
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II. Read the given passage and answer the questions follow:
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L) you have grown up in the capital aty which has beeni plagucd D)

increasing levels of pollution, a breath of freal air would be a welcome

change any tme. Anc
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ov t‘tﬁm!hth?ﬁ your room, all the better | reveled in thas joyous changr
oflscenery, sipping on a {resh Glter Kaaps, from the balcony of iy King
room at the Royal Orchud Brindavan Garden in Mysuru
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2)The journey had been arduous, with a change of flights and then,

1p quisle carly. But the thought of the

travel by road. And |

piping hot Kaap: Kept me going When | Gnally reached the rather
majestic palace, away from the bustie of the main aty of Mysury, |

didn 't think my weanness would weas off so casly after a refreshing
il 4 "% et £
welcome drink. Twelve hoursof travel time is father sirenious aftes
] - K & 4 B a
all. and | was sure I'd want to snuggle under the covers Jof 3 bit, at
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)My fascination with the Southern part of India began during the
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assigned a tnp to Mysury. It was a chance to go back south, 1o a
ifferentlocation, but | could barelv con . 1t The R ‘-
il ntiocation, but | could barely contain my excitement. i n¢ Hoval
Orchid Brindavan Garden, located an hour away from the man oy,
18 often the first i"'t)ux"" L;a’ locals L(-'}r:.::“.y {0 c8Cape t e (f..t-..\ 4 and . albhest
for a few days. Frequented equally by bird-watchers and photographers

the property provides lens as well as the
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hed view of the gard

KRS (Knshna Raja Sagar) dam

4)All the rooms face the gardens, so you can chensh thewr stunning
symmetry from the comfort of your room, with a cup of Kaap: in yous
hands. The hentage property features 24 select spacious rooms wilh a
private balcony. The can wopy beds, wooden flooring and the coloasal
doors, all exude an old-world vintage charm

Mysuru's weather, 18 much bke closc-by neghbour Bengaluru, o s
pﬁmmum for most part of the day, the cvenings are undeniably better To
further strengthen my belief, a quset dininer at open-ase Elephant Bas was
enotigh. Over a scrumplious meal, I was told of the many flms that had

heen shot at the property, ot cluding massive huts lilie Linga and KGY

{) Which city does the writer originally belong to as mentioned in
the passage? (Ix10=10M)
al Bangalore b} Mumbas

¢} New Deth:  d) Mysuru
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a) Wear your heart on your sleeve | o
d) Wear down
¢) Wear up

- » given dialogue as
111) Select the option that suitably completes the giver 5
per the context in paragraph

X: How can I help you Sir?

Y: Please check my passport (1)

2) Going to (2)

a)(1) I am excited to fly to South India (2) Mysuru in Bangalore

X: Which place are you visiting? Y: (

b) (1) I am excited to fly to India

(2) Visit my hometown
¢)(1) Could you assign me

a window seat? (2)

South India to my
hometown

d) (1) Hope I can check in easily now (2) visit my friends at Bangalore

iv) Which option represents the features that attracted the write
avan Garden’?

atures 24 select

towards ‘The Royal Orchid Brind
a) The heritage property fe Spacious rooms facing the
garden

b) The rooms overlook the

» beautiful Brindavan Gardens as well as the
KRS dam.
¢)The in-house Spa offers rejuvenati g

l’-'l.‘.l't!ll(‘ll[&i.
d) It offers s indoor and outdoor games with an entert: unment zone
(@A) aand b (b) b and ¢ (c)cand d (d) Only d V) I didn't

e




think my weariness would wear off so easily after a refreshing

welcome drink. Explain

vi) Select the option that is correct with reference to the given
passage.

a) Bangalore and Mysore have a pleasant weather only at nights

b) The writer did his higher education in Bangalore

c)The writer travelled for less than ten hours to reach the Royal Orchid
Brindavan Garden in Mysuru

d)The writer is fond of drinking filter coffee

vii) The first choice for locals looking to escape the daily grind, albeit for
days. The word “albeit” in the context of the passage means:
a) Unless b) Instead

c) And d) Though

viii) Which of the following reasons attract the people towards the
Royal Orchid Brindavan Garden as described by the writer in the
passage?

a) The hotel’s courtyard-style coffee shop and Elephant Bar - both offer
balcony-views of Brindavan Gardens.

b) It exudes charm and grandeur of the Maharajas cra.

c) The hotel features a swimming pool engulfed in greens.

d)Royal Orchid Brindavan Garden and Spa is a 4-hour drive from

Bangalore
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ix) Which quote best summarizes the writers’ description aboy the
love for the South Indianfood?
a) The body becomes what the foods are, as the spirit becomes why,

the thoughts are - Unknown Proverb

b) If vou don't love South Indian cuisine, you are either an alien or

your taste buds are spoiled-An Indian Citizen
¢)The only thing I like better than talking about food is eating ~John
Walters

d)I've never been in love before. But 1 can imagine its similar to the

feeli ; . ; n ;
ling you get when yousee your waiter arriving with your food -Zach
Galifianakis,

X) “Twelve hours of travel time is rather strenuous after all.” What
does the writer mean to say in this statement?
a) His journey has been memorable and comfortable
b) His journey was quite hectic and exhausting

c) His travel route was very long

d) His journey required lots of energy

III) SECTION : B Writing And Grammar (2x5=10M)
A. You are Ritesh/Ritika Gupta, a student of class VIII of St Xavier’s

School, Bangalore. You feel thatin spite of starting the metro train
service on so many routes, the condition of traffic on the roads is still
bad. You find it disturbing that the number of vehicles on roads is
increasing steadily. You want people to contribute for tackling this
problem. Write a letter to The Editor of Times of India, on the topic,

“Traffic Woes and Solutions’. (100-120 words)

\
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IV. Complete the following tasks, ANY TEN as directed (1810 10M]
|, Complete the line from a self awarenecss song, by filling the blenk
with the correct option.

My Mother 18 pof the sort of M

Wholl aned faint and stuser Dagkness doean acare e

When it thunders, ahe son
be squealing, quiver
squeal, be quiver

squeal, quiver

be squealing, have been quivered

- . ’

ii. The center constiutied a leeghlewel fechncal teasy ' P eemrive
N 5 5 - - r % - ¥ " * i ’ y
Cauvery waler dispule Rarnataka and Tamd XNady: TiHH In

the blanks with articles and prepositions



i We should not show cruelty to animals. [Rewrite using the

adjective form of the underlined words]

iv. The mother said to her son, ‘Where have you been throughout the

day?’ (Turn into indirect Speech)

v. Read the given sentence from a recipe review article. Identify the

error and supply the correction in the sentence.

This delightful recipe must keep your hunger pangs at bay with its

balanced spices and oriental flavour.

Use the given format for your response

ERROR CORRECTION

vi. Fill in the blanks in the letter given below by choosing the
appropriate option.

Dear Mrs. Radhika, Despite (much/several/lets/ infrequent) calls over
the past three weeks to your office, no action (were taken/had been

taken/ has been taken / take) regarding the two abandoned cars parked

outside my house.
vii. The girl has kept the promise. [Change the voice]

viii. Fill in the blank by choosing the right option to complete on a

live feed on school news channel:;

Congratulations Changemakers,

The regional competition results have been announced and our school

music club ‘ the first prize.

10
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¢) has won

d, haS been won

QL_FS_._e_lgCt the option that identifies the error

and suppli
correction for the closing line, from an analytical report
In conclusion, this study explores the at |
p association among s

pattern and overweight youngsters.

hort-sleep

Option : .
| p Correction Error
‘ 1 explores "explore
| - and or
| 3 ' among I between
|F 4 . n | for |
x. You consult the thesaurus if vou need groups of synonyms
for those.
a) need ¢) had to
b) need to d) used do

xi. Fill the blank by choosing the correct option to complete the

paragraph.

Speaking to his daughter affectionately, father asked her to pass some

salt. The daughter quickly passed the salt and praised her mother

(a) if the delicious apple pie (b) that the apple pie was yummy

(c) that the apple pie is yummy (d) None of these
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xii. Complete the given narrative, by filling the blank with the correct

option,
The experience of nursing an injured bird left me grateful for knowing

the importance of being kind and compassionate to all creatures.

(a) feeling (b) having felt  (c) felt (d) feels

IV. SECTION: C (Literature) (40M)

Complete the following extracts:

A) “He was afraid that it might kick and bleat at sight and smell of its
mother. He skirted the clearingand pushed its way into the thicket. It
was difficult to fight through with his burden. The fawn'’s legs caught in
the bushes and he could not lift his own with freedom. He tried to shield

its face from prickling vines. Its head bobbed with its stride. His heart

thumbed with the marvel of its acceptanceof him.”
i.Who is the ‘it’ in the first line of the passage?  (1x4=4M)
a)The doe (b) The fawn (b) Mill-wheel (d) Jody.

ii. Pick two sensory terms from the passage.
(a) Kick and bleat (b) Sight and smell (c] Bobbed and thumbed (d)

Skirted and clearing

iii. While carrying the fawn back home, Jody was afraid because he

taught?
(a) The fawn may get out of control at the sight of its mother.

(b) The Mil-wheel might follow him.

(c) He might not be able to carry the fawn.

(d) He might not like it.




iv. State the meaning of the expression, “Marvel of its scceptance

of him “

was overwhelmed by the fact thal the faw ; =y
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V. Answer any 5 of the following in 20. 30 worde (225~ 10M)
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and her other cight sisters

iv. Describe in brief the author's meeting w»1th Connie?
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v. How does Jaya portray the act of empathy and sind
vi. Accentuate the difference in outlook of Duttada and his »

N respect of the new comet Who do vou suppor! and Why

VI Answer any 3 of the following in 40.50 words (3s4-12)
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The lesson “Jaleis®, teaches us that we should think before doing
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SINDHI HIGH SCHOOL, BENGALURU
ANNUAL EXAMINATION [2023-24]
SUBJECT - SANSKRIT

Name :

Roll No:

Class/Sec: VIII Max. Marks: 30

Date: 28.3.2024 Reading time: 15 mins
No. of sides: 4¢ Writing Time: 1 hrs

General Instructions:
e Write your Name, Roll number, Section in the answer script.

e Read all the Questions carefully.
o Answer all the Questions and write neatly.

o TUT ‘F' - YT WETA: - 6
o T ‘T - THATHT FAH - 8

o GUT ‘M’ - AW ATHH - 10
o GIT ‘¥ - UEgEAIIAH -

[« 20,

gue ‘F' - FYISq TR

I. Read the passage and answer the questions given below.

Terfey afd@T SrHETT v S9 |
W’T—'ﬁiﬂ'ﬁ'aﬁl W%QW?&M:‘I{?#J:W;:WWI T Fa44
| TreTe,  ATfRRee, oTfaqE TTEE: FTCEL AR oA A | g1 CromaAT

3 o At wrsTre e 1 2
TSATT T AENd: | q_rwn HY OHE T Hrezqu g AfEate o 29
~

Y@ Aar, qeafd:, WHHE=AT T ¥% UF FAq |



A. UNURA TWTH | Answer in one word M X 2 =

b, R g fgey wfes

B, qehaTERR erw Answer in complete sentence. X2 =4

O

¢ wurfdy gwre I Do as Directad

X2 =y
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3.?ﬂ{+g'g=£

9.

2. g + T =

gﬁﬂﬁr'ﬁ?ﬁ%.'

3 we all laugh.

T Her @t |

4. Elephant ate a banana.

gue T — FIYh ATy

i 1 X 4=
IV, Write the number names in Sanskrit.
N §epaq forgd |
1. R o ¥
Jw KW 4. ¢
V. TFR-T9dT 9y g | % A

Combine the verbs and suffixes

1.U§ + ggq =

Il

9T+ gE =

Page-4
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A, W‘E’? ST | Answer in one word,

2 X 2 =1
L. ATEET AT f oo .
2. AT AHETR T geET o
B ‘I"fﬂT@?Wﬁ' | Answer in complete sentence 2 X2=4
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vi. O osw Rvse 91 Reg |

Make or split the sandhi and write.
1X4=14

-
%
I
+

4. AEHT + AR =

e g - gfqrEeyey

VII. T 9fSET SHEEw T 6T |
Read the passage and answer the questions given below
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SINDHI HIGH SCHOOL, BENGALURU
Annual Examination- 2023-2024
Subject: Mathematics

Date:\5/03/2024 Marks: 80
Class: V111 Time: 3 h
No of printed sides: 8 Reading time: 8.00-8.15am

| Writing time: 8.15-11.15am

| GENERAL INSTRUCTIONS

E « Write your name, roll number, class and section, date and subject clearly in your
answer script.

| 1. This Question Paper has 5 Sections A-E.

' 2. Section A has 20 MCQs carrying | mark each

3. Section B has 5 questions carrying 02 marks each.

. Section C has 6 questions carrying 03 marks each.

| 5. Section D has 4 questions carrying of 05 marks.

' 6. Section E has 3 case based integrated units of assessment (04 marks) with subparts

; of the values of 1, 2 and 1marks each respectively.

7. All Questions are compulsory. However, an internal choice in 2 Qs of 2 marks, 2 Qs
of 3 marks and 2 Questions of 5 marks has been provided.

| 8. Draw neat figures wherever required. Take m =22/7 wherever required if not stated |

HEN

S1 No Section A Marks
L. L g 2, 1
The multiplicative inverse of 25 is
-12 5 12 -5
2. 1
The perfect cube number between 50 to 100 is
a) 75 b) 90 c) 64 d) 81
3 If x and y are directly proportional, then which of the following is |1
correct? '
a) x+y=constant b)x-y=constant
¢) xy=constant d) x/y=constant
: Which of the following statements is true? 1
4. a) Natural numbers are closed under multiplication

b) Whole numbers are not closed under multiplication

¢) Integers are not closed under multiplication

d) Rational numbers are not closed under multiplication.
1




number is greater (han the other number by 3. The sum of 5

5. 1 One " N—
| qumbers is 23, The 2 numbers At
. | d) 15,8
| !an 13,10 b) 14,9 i) 17 ahs
| ; ey
0. | The square of 42 is:
n) 10064 b) 17064 ¢) 1504 d) 1504
7. '.-\ dic is thrown, What is the probability of getting even prime
number?
| 0 Yo b) Y ¢) % d) %
8. ;[I'hc volume of a cuboid with length, breadth and height as 5x,
Ix and 7x respectively is
) 100y b) 105y’ ¢) 95 d) 115x7
(9. 18 out of 36 people love reading, 50 l'(‘:l(rl.il-lilm'l“l_l the pie chart is
' represented by
| |a) Yol acirele  b) % ofacirele ¢) full circle  d) semicircle
: 10. | Waheeda bought an air cooler for Rs. 3300 including a tax of 10%.
| 'l'lw price of the air cooler before VAT was added is:
; a) Rs. 2000 b) Rs. 3000 ¢) Rs. 2500 d) Rs. 2800
[ 11. | Divide (p*q® - p°q’) by (p°q?)
l a) p'-q° b) ¢*-p’ ¢) p’q’ d) p’-q°
1
12.  |In Cartesian plane, what is the y - coordinate of a point which lies
on the x axis?
a)l b) Any number  ¢)0 d) -1
'13. | Which of the following is not true for a parallelogram?
a) Opposite sides are equal
b) Opposite angles are equal
¢) Adjacent angles of a parallelogram are complementary angles
d) Diagonals bisect each other.
14 | A polynomial contains number of terms:

a) One b) Two ¢) Three d) Any




15

The value of (3%’ is:
OF b) 312 oK a3
16 | On factorising 14pq + 35pqr, we get:
a) pq(14+35r) b) p(14q+35qr)
¢) q(14p+35pr) d) 7pq(2+5r)
17 |The ag(:': of the father is three times the age of the son. If the age of
the son is 15 years old, then the age of the father js:
a) 50 years b) 55 years c) 40 years d) 45 years
18 |If (-3)m* X (=3)° = (-3)’, then the value of m is:
a) S b) 7 ¢) 1 d) 3
Direction for questions 19 & 20: In question numbers 19 and 20, a
statement of Assertion (A) is followed by a statement of Reason
(R). Choose the correct option
19 | Assertion (A) —The one’s digit of the cube of the number 12 is 4
Reasons (R) —A cube number is a number multiplied by itself 3
times
a) Both A and R are true and R is the correct explanation of A
b) Both A and R are true but R is not the correct explanation of A
c) A is true but R is false
d) A is false but R is true
20 | Assertion (A)-The common factor of 10ab, 30bc, 50ca is 10
Reasons (R) ~A common factor is a number that divides each of the
different numbers, without leaving a remainder.
a) Both A and R are true and R is the correct explanation of A
b) Both A and R are true but R is not the correct explanation of A
c) A is true but R is false
d) A is false but R is true
SECTION- B
21. | If the height of a trapezium measures 12cm and its parallel sides

measures 14cm and 15cm, find its area.

3
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Solve (x-2)-(x=3) r(x-3)=8

R s

{25 stndéihs '-lAiiZ'c"ﬁi':{thcm. tics, find out the number of
t like nmthenmtics?

OR

I .
5%, of his money. If he is now

| ) ‘
A person goes shopping and spends 7 : B
e t ad in the beginning.

i
| “‘7.’.".':0 (\]
| students who do no

L =k

| eft with Rs. 600, find out how much he h

e

[Express 47 as a power with base 2.

——

l . e —
"A survey was made to find the ty
voung people liked in a city. The adjoining pie ¢

findings of this survey.

pe of music that a certain group of
hart shows the

Semi classical
20% 1

 Classical

! If 20 people liked classical music, how many young people were
surveyed and what angle does it represent in the pie chart?

OR

The adjoining pie chart gives the marks scored in an examination by
a student in Hindi, English, Mathematics, Social Science and
Science. If the total marks obtained by the students were 540.

| ssdence
Mathematics |7 . e b

. Science

How many more marks were obtained by the student- in
Mathematics than science?




28.

29

W

Rl

SO THON {

} valuate }
7y (S I [
i.v' ‘I o 1 ._‘ : [
.[‘ { . | i ’
: 1
A car travels 14 kmin 25§ minules
:pev"d Paiil LAt

a) Find out how far the car can travel in 4 houts if the

the same’

b) How long did it 1ake for the caf to 1ravel J00kM

Find cube root of 184628 by prime factorization method

bactorise. 5’ «Ta- I8

The sum of three consecufive multiples of 11 s 130 Find thews

numbers,

OR

I he breadth of a rectangular garden is 23 of its length. 1 ite
perimeter is 400 m, find its dimensions

A plece of string is 30 cm long W hat will be the length of each side

of the string is used to form
ta) A\ square’
(h) An equilateral triangle”
() \ regular pentagon’
OR

If a diagonal and a measure of one side of 2 rhombus ar¢ equal,
then find the measure of cach angle




- — — SECTION-D

IR

Draw the graphs for the following table of values, with suitable
32, | Draw the grs
scales on the axes.

Interest on deposits for a year.

Deposit (in Rs.) | \\1000 \\2000 \tmo | 000 ﬁﬁ ﬂ\
Slﬁlple interest (in Rh;)_ \_ _“ 60 \ 40 l{zo \400 W\

(i) Does the graph pass thr ough the or 1g1n?

(ii) Use the graph to find the interest on Rs 2500 for a year.

33. ind the value of a,b,c,d,e and f. Mention the properties used to
ind these angles
|
OR
ABCD is a parallelogram with 2£A = 80°. The internal bisectors of
£B and £C meet each other at O. Find the measure of the three
angles of ABCO.
34.  |Find the value of (/20164 + /5041 ) x V144 \S T
e . : 4 -2
35. W erify the associative property of addition by taking a = s 3
1 .
and ¢ =
OR
Verify the Dlstrlbutlve property of multiplication over addition by
taking a = —; b—— andc—z
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‘ SECTION-I

I'he discount announced on ditferent android mobiles in a whole
sale shop are as follows

|
|
|

|

: W T
1) Mention one of the reasons for which 80%discount is announced
to a mobile. 1
2) If the discount is 40% and the marked price of the mobile is
Rs.15000, what is the discount amount?

OR 2
If a mobile of Rs10000 is sold for Rs9000, what is the discount
percent allowed on the mobile?
3) Identify the discount percentage that is listed above is equivalent

Y.

Rahul has packed a cylindrical juice can inside the cuboidal box as
shown in the figure. The height of the can is same as that of the box.

| 7c1r_“

+

Scin

O A cin
< >

15 ¢

1) If the can is painted around its lateral surface, find its lateral
surface area.

2) What is the volume of the juice filled in the can?
OR
| What the total surface area of the box?

'3) Find the volume of the box.

rs
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“¥] SINDHI HIGH SCHOOL, BENGALURU

-=>-  Annual Examination (2023-24)

Subject-Science
Class: Vil Max Marks: 80
Date: 18 /03 /2024 Reading Time: 8:00-8:15 am
Writing Time: 8:15-11:15 am

No. of sides: 12

General instructions:

i. This question paper consists of 39 questions.

ii. All questions are compulsory. However, an internal choice is provided in some
questions. A student is expected to attempt only one of these questions.

ili. Section A consists of 20 objective questions carrying 1 mark each.

iv. Section B consists of 6 very short questions carrying 2 marks each.

v .Section C consists of 7 short answer type questions carrying 3 marks each.

vi. Section D consists of 3 long answer type questions carrying 5 marks each,

vii .Section E consists of 3 case-based questions carrying 4 marks each.

Marks

Sl.no Section-A

A substance X is obtained from an exhaustible natural resource. Itis a
black and thick liquid with an unpleasant smell. It is a mixture ot 200
substances. Some of the products such as synthetic dyes, plastic pants,
explosives, perfumes, et are obtained using this resource, The
substance Xis____
(a) Coke

(c) Bitumen

(b) Coal tar

(d) Lubncating ol
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P'ﬁ—
6 | Al nobde gases are
(0) Mosostosmie () Duasomi

(©) Trimtom () Borh & and b

A mabural gan ored whder Migh (veserc i caliad
(a) ONG %) LG
(€} KLG (d) PNP

§ | Mhentify the correct stasomens(s) from given hellow

) Testes stan producing sporm o Se age of 71 yaws
() Owelation starts a0 the adodescont age i fomeies
() Beard i bovs i & secondary sovual chadacioy

(a) Al are correct (b) Owly i

(c) i and i (&) and W8

9 | The place where Mora and faums e comservad i the satursd babita

(1) Zovbogical garden i) WA sty
(hih) Poranaca) garden () Sationid) Paw

(®) ¥ & W




tlie correct statement from the above

Choose

(b) (iD)

(a) (1)
(d) (iv)

(c) (ii) //

11

s and the remaining are boys. The

nts 23 are girl _
d on this statement find out

In a class of 40 stude
class has an average of 10- 11 years. Base
llowings

the correct option from the fo
/

s around the age of 11

e Adolescence begin
ii- in girls, adolescence may begin a year or two earlier than in
boys
22

(a) Statement 1 is correct

(b) Statement 2 is correct
(c) Both the statements are correct

(d) Both the statements are incorrect

Je reason behind the similarity of

Roohi is very curious to know tl
son from the

12
children with their family members. Select the correct rea
given options.
(a) Cells (b) Eggs
(c) Sperms (d) Genes
13 | The point from where the shock waves of an earthquake originate is

called

(a) epicentre (b) seismic focus

(c) focal depth (d) mantle




A pendulum oscillates 20 times in 4 seconds. Find its time period

(a) 0.05 sec. (b) 0.001 sec.

(¢) 0.2 sec. (d) 0.1 sec,

fa—
A

A student in a village area, observed a few green patches on the
boundary wall of his school. He asked his teacher about the green
patches. His teacher clarifies the doubt of that student. Now he is able
to recognize the group of organisms belonging to the green patches. In
vour view, green patch is most likely to be

(a) A type of virus (b) A type of algac

(c) A type of fungus (d) A type of bacterium

16

Pancreas is responsible for maintaining
(a) blood pressure (b) fat metabolism

(c) blood glucose level (d) electrolvte balance

For question numbers 17 to 20 two statemenis are given - one
labeled Assertion (A) and the other labeled Reason (R). Select the
correct answer to these questions from the codes (a), (b), (), and
(d)as given below:

a) Both A and R are true, and R is the correct explanation of
theassertion.

b) Both A and R are true, but R is not the correct explanation
of theassertion.

¢) A is true, but Ris false.

d) A is false, but Ris true.

S

17

Assertion: The colour of LPG flame is blue whilc a candle flame 1s

yellow. . ' |
Reason: LPG undergoes complete combustion while wax undergoes

incomplete combustion.

R S

-




te of a species being found in a single

is the sta
and, state, 0

18 Assertion: Endemism ._
ation, such as an isl

defined geographic loc
other defined zone.
o oacies Of
Reason: Sal and wild mango arc examples of endemic species O
Pachmarhi Biosphere Reserve.

ation, country oF

ry fission.

Assertion: Lightning strikes could destroy life and property.

19 | Assertion: Amoeba reproduces by bina
Reason: All unicellular organisms reproduce asexually.
20 ightni buildings
Reason: Lightning conductors can protect butldings.

Section-B

respectively. Which of them will form a cation? Justify.

2

’ 2 . - -
21 The atomic numbers of three elements A, B and C are 9, 10 and 13
Y

Which type of reproduction is exhibited by the following diagrams.
Write any one difference.

et £ BT S ST RER TS o T

OR

At a time, male gametes are produced in an enormous amount in
comparison to the female gamete in human females. The number of
cggs is limited in human females. Mention the site of production of
male and female gametes in the following format

Cimmeie r’.i‘.:m-.;’g“ - ERENTT s
! I —— = e e
N Inle ) *
Foewmale J ‘
{ Feroownle

From 2001 to 2021, India lost 2.07Mha of tree cover, equivalent to a

tJd

e
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e

why can’t we hear the sound produced by overy vibrating body?

(d) Lightning and thunder happen in the sky simultancously and at the
same distance from us. Then why do we first see the flash of lightning
and then, after some time we hear the thunder sound?

3
|
(¢) Name two places in India where coal 1s found.
28 | (a) Write the chemical formulac of the following using the criss-cross 3
method.
(1) Copper nitrate (11) Calcium carbonate 1
(i11) Magnesium hydroxide
OR
Balance the equations given below
(8) HNOs = Ca(OH): — Ca(NOs): + H:0
(b) Zn +« HCl -+ ZnCl: +H;
(€) BaCl: + H:SO: — BaSOq4 = HCL
(a) Though hen and frog both are oviparous but they have different
29 iypcs o Bruilization. Justify A
(b) Write a short note on foctus
30 (a) We know that vibration s necessary for producing sound, so 3




31

(a) The angle between the ray of incidence and the reflected

ray is 60°, What is the angle of incidence?

(b) Label A and B and write their role.

32 | (3) Beera, wants to practice Crop rotation i his ficld. Suggest a Rabi
crop and a Kharif crop which will replenish his ficld with mirogen
Which crop replenishes nitrogen and why”

(b) Despite favourable climatic conditions, a farmer’s crop failed 10
givea good yield. Give the possible reasons for this.

33

- ™ -
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(a) What will you obscrve in Figure-17?

(b) What will you observe in Figure-117

(c) 1S it true that a cl!ar‘gcd Ohjcii ni\\-a}'s atlracis an Ullch_;;f'gcﬂ ijcct
but 1t may or may 1ot attract anothce ihaggcd ﬂ’h,!t:ct"'

Section-D
34

(a) If a small amount of sugar is added to distilled water. will the

mu!tfng s_oltmcm be a good conductor of a poor conducior of
electricity? Explain why. o

(b An clectnic current is px -

passed o a conducting solutio

Ny B — ung solutson. What can
be the three possible observations” ) bl

(¢) In a circuit, Rahul observed that Copper 18 deposited on the

!ci‘-! a e % .‘:M ! " lha bat] Ty z 4 iR
b i . . - ) P i |

e
h.;-im"a': R -

L+
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L o iylale
ut she finds only one copper plate
ative electrode. Will coppet

repeats the same expe

Therefore, she takes a arbon rod as the neg |
carbon rod? Explaim your answer

- riment. 14
still be deposited on the ¢
OR

- ' ving the rei or electroplating
(a) List three uses ol clectroplating, giving the reason for electrop ¢

in cach case.

(b) llustrate Electroplating of an iron key with copper.

(a) Two persons are applying forces on two opposite sides of a moving 5
. cart. The cart still moves with the same speed in the same direction.
What do you infer about the magnitudes and direction of the forces

apphied?

(b) Why is it easier to walk on soft sand if we have flat shoes rather
than shoces with sharp heels (or pencil heels)?

(c) A force of 50 N is applied on an area of 2 m2. Compute pressure
being applied to the area. Also, mention the unit of pressure.

OR
Observe the figures given below carefully
f - i
oy |
C?,:?I. lﬁi:::fii. l?a;"-:.l.

(a) Volume of water in each vessel is shown above. Arrange them in
order of decreasing pressure at the base of each vessel. Explain

the reason,

(b) A chapatti maker is a machine that convents small balls of dough
into round chapatti. What effect does force have in this process?

{¢) An archer shoots an amow in the air horizontally. However, after
moving some distance, the arrow falls to the ground. Name the initial

force that sects the amow in motion. Explain why the arrow

ultimately falls down
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(1) Fill the blank circles i figure and identify the sex of child A and B

O
O
O

(i) What will happen if the egg is not fertilized in the female
reproductive system?

(iii)Name the hormone which would be released during the following
situations.

(a) A frightened person
(b) Growth of a child to adult | '

(¢) Development of secondary sexually characters in males

e

(d) Development of tadpole to frog

OR | '

(a) Salma had a very soft and smooth skin dunng her childhood. As

she entered adolescence, she developed pimples on hier face Can you
, . f nlmnlae on her nd

explain the reasons for the appearance of pimples on her face al

'ﬂ-
|
suggest ways to prevent them? i !
e v | i
[ i Car vt ace 1y BOvs ”"_‘: 1: \
(b) Our government has legahised the age for marmiage i Bk s ;.;
: v p 1A ot meartied after a cefiaif ag !
girls. Give reasons as 1o swhy one shoule fot e BIes 3 LCTRD A |
|
(¢) Lila always cats only dal and rice m cvery meal. Shc oficm 238 TR
and has become prone 1o discases. Can you suggest Changes i fied &
which can make her healthy and free from Ciseasc
Section B
Global warming is the nise in the lemperature of the atmosphere of the

i NSl % - G4

e &



37 | Carth. This results, among other things, in the melting of polar

glaciers,which leads 10 a rise in the sea level, causing floods in the
coastal areas,

(a)Increased concentration of which gas mainly causes global
warming? What will happen if that particular gas becomes

zero?

(b)What impacts vou will observe on plants due to increased
globalwarming?

Ram and Shyam while returmimg from school <aw a laborer pushing
hard to move a heavy box. Ram wnmediately ean to him and started

helping him in pushing the box whereas Shy am broweh

alit two iron baes
and asked the labor to put them below the box and then to push the
box.

(@) What are the tactors that aftect friction?
(1) Who will help the labour more-Ram or Shyam? How”?

(€) Give two methods of reducing friction.

(€)Suggest two wavs 1o reduce the impact of global warming.
"; I gs AIIVAC frd B o .
38 | Preservatives are used to protect our foodstuft for a longer time.
Answer as per questions asked in difterent boxes.
Plekle [ Preservative name T
l.:
lam and Jellies Preservative name et fAA_L“
L!
g;
Milk Name of process o 3{3¢!mudonom}@<n§ _—E
| 1 |
Sugar | Mow act ay a protervative? 1
| '
| |
Chemical L bampler TG ampter 1
preservative |. l ‘r
{ | |
| | :
s —a - S ll
e e — i S
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GENERAL INSTRUCTIONS:
i, Question paper comprises Six Sections - A, B, C, D, F and | Phere are 37 quastions i the
question paper All questions are comgultsory

i, Section A - From question | 10 20 are MCQs of

| mark oach

fii. Section B-Question no 21 10 24 are Very Short Answer Tape Questions, carying 2 markes

each. Answer 10 cach question should not exceed 40 words
fv. Section C contains Q 25 10 Q 29 are Short Answer l,pwumm)u!-hﬁ.
 Answer 10 each question should not exceed 60 words

v. Section D-Question no mw))wmmuuuwmmwmsmﬂ.m

, 10 each question should not exceed 120 words
vi. Section-E- Questions no from 34 to 36 are case

are of 4 marks cach

vil. Section F-Question no 17 is map based. camys

(2 marks) and 37 from Geography (3 marks)

based guestrons w ith thiee sl gueataomy and
ng § marks with fwo P, 37 from Hiwaon

lm«m‘mmmum

viil. There is no overall chosce i the question PapeY
mmhmmMeuum

"Mhﬁ*wmm}mniﬂnchﬂm

ix. In addition 10 this, separate instructions are gnon with

oo ih g tmouns tad GrAEBROI,
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d Match the following:
A B3
I. Shifting cultivation. ] (J_J_\_Allc_u__and nl_l_u_giriru_@}ni-crgmli\ nmu,u u
2. Nomadic hcrdmg. (i)Food and fodder crops grown and rearing of
- _' . _l_l\ estock.
' 3. Commercial grain . (i) Is also known as slash and burn a; griculture
rl Iarmmk R R -
; | 4. Mixed fdl'ﬂ"llnj3 (v Movement arises in fu[‘ﬁwl\t hl <l ‘:HMH&
L ~ Constraints .md terrain
cas L 240y, 340, 440 (b)yl-11, 2-1v, 3= 111, 4= 4
b Ly, 2400 340 4eiy (d) 11, 200, 3-iv, 4-ii
0. The 2% Iarg,(.sl manufacturers of commercial vehicles in India 15
(@) Mahindra Motors (b) Tata Motors
o i (¢) Hindustan Motors (d) Ashok L. ulm(l

* T ldentify the work of State Government from the giv en list.
(a) The decision of the Indian Government to maintain peaceful relations with
China.
- (b) Introduction of a new train connection between Ajmer and Mysore.
(¢ )The decision of the Madhya Pradesh government to discontinue Board exams
in Class VIII for all schools under this Board.

(d) Introduction n! a new IU()(I rupee note.

8. EVM for the first time was used in~~
) 2007 (b) 2004 (¢) 1990 (d} 2003
Y. | Match the following:
1 Van Gupjars 1. Andbra Pradesh
2. Labadis 1. Punjab
3. Bakarwals . Kulu
4. Gaddis iv. Kashimir |
(a) 1-11,2-iv, 3-111,4-0 (b) T-11,2-1v, 31,410 5
) 1w 2+, 311,40 (d) 1-11,2-0,3-iv 4+
10, S argued that education ought 1o devel op a person’s mund and soul |
(a) Rabindranath 1 agore (b)) Raja Ram Mohan Rao |
‘ | (¢) Mahatma Gandhi (d) Ishwar Chandra Vidyasagar |
rl l. llu. existence of more than one level ufw\ crnment uT:;_Jmiji_l_ln is called __ q

; | (a) Federalism  (b) Scculansm (¢) Coercion  (d) Intervention

e e s et — o T ———

2, ldumh the incorrect statements from the Iuﬂﬁumm h

} (A) A History of British India was written by James Mill.
| (B) Census operations were held every vear.
' { ) Warren Hasting was the first governor-General of India.
L (D) James Mill divided Indian History nto three period-Hindu, Muslim, and
- Christian.

-._ih@};&;(i_ _ (BMBC ()AD (d)B.D

13. ' How mam ‘members are nominated in Rajya Sabha b\ President of India?

5“’)- (b) 12 (<) i* kd;‘t)

e

-

i1)

Vfii



‘?E{[)ILIL lnl_lL AI'(_)AI_-I_Q\._vin g, (i sty |
I | Input. N Raw material, labowr and transport
21 Wide range of Tunction
3 | Output
15, Exf‘j”l"}% ol Co-operative sector industry | ()
()TISCO  (b)Maruti Udyog (¢ ) Sudha dairy (d)None of the above |
16: Assertion (A)-The mid-day meal that children now receive in government anil ()
government-aided schools is because ol PILL 5
RCEIS'OH (R) - the Supreme Court in the carly 19805 devised a mechanisim ol i
Public Interest Litigation or PIL to increase access (o justice. l
(a) Both A and R are true and R is the correct explanation of' A :
(b) Both A and R are correcl but R is not the correct explanation ol A, ;
(c) Only A is correct. ‘
(d) Both A and R are wrong,. .
17. Name the three presidencies of British ndia. (|
(a) Bombay, Hyderabad and Madras -,
(b) Hyderabad, Bombay and Bengal ‘
(¢) Bengal, Bombay and Madras l, '|
(d) Kolkata, Hyderabad and Bengal i '
’?ﬁ. Prakash Hinduja manages the group finances in (iencva______ii__mH_-p (1) |
(a) Germany __ (b) Switzerland  (c) France (dyftaly
[ 19. What refers to the State’s effort to influence a particular matter in accordance (1) |
with the principles of the constitution? 1
(a) Coercion (b) Intervene () Meditation (d) Encroachment 1
20. Complete the analogy; (1)
Arya Samaj: Swami Dayanand Saraswati:: Satyashodhak Samaj:
: SECTION - B | e
Q. no. 21 to 24 are very short answer questions ]
2]. The Judiciary has played a crucial role in democratic India. Justify the (2) l
statement. }
22. Differentiate between Agro based and Forest based industries. (2) \
23, Explain the factors that affect the location of industries. (2)
24. (2)
(a) Identify the picture and name the personality.
(b) What was her demand? \
(1)
() |
' . SECTION-C
Q.no. 25 to 29 are short answer questions. 3x5=13
|95, What was the impact of partition of Bengal in the year 19057 (3)

Page-3
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Observe the picture o given below

— ——
and answer the following questions. (=]

(2) Identify the hill located in Orissa?
(b) Which Adivasis community inhabited in those hill?
(c) What could be the reason for the displacement of this Adivasis community?

2% List out the features of Intensive Subsistence farming. (3)
28. (a)What is Manual scavenging? (1+2=3)
(b) What did the government do to protect the scavengers from serious health
hazards?
29. Study the Balance of Population and explain the three pictures (3)
T\
/ / /'/ ) / \\ / h Y
/ Y ,r/ \ ) \ AW i
\ / /N )N LN N

- \ Death rate Birth rate ,'/ ke

Birth rate Death rate R
Birth rate Death rate
“ Bl . ©

SECTION -D
Q.no. 30 to 33 are long answer questions 5xd=20

30. Mention and explain geographical factors that affect the distribution of (5)
population,

Or
i. What does the Population pyramid show? (2+2+1

ii. What is Population density? What is Population density of the whole world =2
and India? :

iii. Define Birth Rate.
31.  |(a) What is Sanitation? a_
(b) What does Article 21 of our constitution state? (h
(c) How has *Sulabh’ addressed the problem of sanitation in India? (3)
Or

What are Public Facilities and how does the government get money for it?

Page -4 j




Hoy
inequality I society?

Describe the

< id Tyotirao Phule and other reformers justy
v did Jyotirao Phule and other reformers justily their criticism of cast
: ! caste (5)
- Or
(iq) \;:| s were not sent to school for difTerent reasons. Explain
(b) Women involved themselves in their upliftment JLI;‘:liF : o
Justify

various forms that No rati

‘ s n-Cooper in di

e of Indin operation movement took in different

N Or

a - ()\\f b 111 yr N

(tb o id Gandhiji emerge as a mass lcader? e
! C 1

(b)Give an account of the Dandi March by Gandhiji.

34.

36.

SECTION-E

Q. 3410 36 are Case - Bascd ques tions
he following questions
( to the forefront. Several

Read the extract and answer t

The Bhopal disaster brought the issue of environmen

" thousands of persons who were not associated with the factory in any way werc

greatly affected because of the poisonous gases leaked from the plant. This made

people realize that the existing laws, though weak, only covered the individual

worker and not persons who might be injured to industrial accidents.

(i) When did the Bhopal Gas Tragedy occur? (1)

(ii) Mention the name of Poisonous gas. (1)
ages of foreign companies in setting.up production in (2)

(iii)What are the advant

questions
s led to a large scale

ing this

India?
Read the extract and answer the following
demand ha

Growing population and their ever growing
| destruction of forest cOVEr and arable land and has created a fear of 10s
natural resource. Therefore, the present rate of degradation of land must be
| checked. Afforestation, land reclamation, regulated use of chemical pesticide
rgrazing are some of the common methods used

| and fertilisers and checks on ove
to conserve land resources.

i Define land use. : (D

ctors that determine land use. (1)

(2)

ii. Mention the human fa
' i List the classification of land on the basis of ownership.
|
|

le following questions:
Jones arrived in Calcutta. He had an

In 1783, a person named William

appointment as a junior judge at the supreme Court that the company had set up.

In addition to being an expert in law, Jones was 4 linguist. He had studied Greek

and Latin at Oxford, knew French and English, had picked up Arabic from a

d had also learnt Persian. At Calcutta, he began spending many hours a
s of Sanskrit language, grammar

Read the extract and answer tl

friend, an
day with pandits who taught him the subtletie
and poetry.
i Define Linguist.
Jes to establish Asiatic Society in Bengal?
d in Benaras in

ii ' Who helped William Jor
iii. Who were Orientalists? Why was

17917

Hindu College establishe

Page -5
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Map  based guestions 7 __
17 | a) ldentity the todlowing places marked on B political mag of rufua with the
help ol given Clses
(1) The place whiese INU was establishod
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SINDHI HIGH SCHOOL, BENGALURU
Annual Exam 2023-24
Computer Science
Reading Time: 8:00 — 8:10 AM
Writing Time: 8:10 = 9:10 AM
Date: 30-04-2024

I.  Fill in the blanks:

5X1=5
I..A__ s formed by the intersection of a table row and a column.
2. HTML stands for
3. . _____isacyber-attack that involves the use of charging ports.
4. A ______button automatically resets form controls to their initial values.
5. The <Table> tag uses element for creating table rows.
Il.  Write True or False. 4x0.5=2
I. You cannot insert a video to a webpage.
2. Cyber bullying is a antivirus software.
3. There are two different kinds of hyperlinks.
4. You can enter multiline text into an HTML form.
[11. Give two examples for each of the following: IN1T=3
. Antivirus Software
2. Attributes of the <Table> tag
3. HTML form Controls
IV. Unscramble the jumbled letters using the clue given below: 4X1=4
1. MASP
Hint : Unsolicited commercial email.
2. SMREFA
Hint: It is used to divide the browser window into muluple sectons,
3. NIPGSHIH
Hint : Type of scam which is used to obtain personal information.
4. MFRO
Hint : The method that is used to take user’s input.
V. Write the difference between: 2X1=2
I. Cyber Bullying and Cyber Stalking
9

RowSpan and Column Span




6X0.5=3

VI. Choose the correct option:
. . : 9
1. Which of the following methods is used to submit the form’
B _ —_— iv. None of these
i. Post ii. Submit ii. Send e s
2. Caption added to the table using <Caption> tag appears by defaultat
; . . ' Be , Center
i. Top, Left ii. Bottom, Left ni. Top, Center iv. Bottom
3. What is the extension to save HTML document?
Loxlsx 1. .doex . .py wv. huml
4. Which of the following is not a malware?
1. Virus il. Worm 1. Trojan 1v. None
5. Which of the following is not a Textlnput Controls?
1. List 1. Single-line text m. Password . Multi-line text
6. Which of the following is not a key symptom of virus in a computer?
t. Frequent Crashes 1. Repeated harassment and threatening messages
ii. Unusually moderate execution v, Changes to your landing page or passwords
VIL.  Answer the following: IN2=6
I. What are the various ways to safely browse the web?
2. Describe the four tags that are used to create 2 table in an HTML document
3. Explain any four button controls and their types in HTML
VIIL. What do the following tags stands for: 2X1=2
l. “p> 2 <a> 3. <br> 4 <gpes
IN. Write the HTML code to create the table given below in your HTML document:3

EmpNo | Name ] wmmﬂm&
CFet |t | |

. Prodeep | Ra] | 30-0s-1978
2 Auna  Singh | 15-08-1968 |
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